EMHe BINEFLZEFOREMKE (FXEHH)

TR29%3A KRR
DJR FEX#R[6%]) _
HH| BEBSIERELE | B3 H 5 EX¥0 |EXFOHE
REATS)E | FEATCKE (A) (FZ<RAED) | YHKER
EXEH =EF0 =240 (B) (A/B)
dLiEREKE 2,317.2 86.0 2,403.2 2,403.2 100%
REAXRESRE 6. 080. 4 174.0 6.254. 4 6, 254.4 100%
RBREHKE 1,429.4 1,429.4 1,429.4 100%
78 B A RE #KE 4,187.0 8.5 4,195.5 4,195.5 100%
mEfkE iE 855. 2 855. 2 855. 2 100%
AN iR K8 1,984. 1 1,984. 1 1,984. 1 100%
&t 16, 853. 3 268.5 17,121.8 17,121.8 100%
@J R (FeRI54])
HH| BESIEELL | 55 =t EXFO [EXFO4f
FREATS)FXE | EE(ATC)XE (A) (FAZ<RMED) | YEHER
EXEL HESO =2EF0 (B) (A/B)
bEERE#KE 148. 8 148. 8 148.8 100%
REXREHE 1,194.2 1,194.2 1,194.2 100%
REBREKE 552. 6 552. 6 552. 6 100%
78 B A iRE#HE 812.6 812.6 812. 6 100%
AN R #K 8 288.9 288.9 288. 9 100%
&t 2,997. 1 2,997.1 2,997. 1 100%
QAFR#HK[1 5] _
HH| BEBSIERELE | B3 = 5 EX¥0 |EXFOHE
REATS)E | FEATCKE (A) (FZ<RAED | YHKER
EXEH =EX0 =2E+0 (B) (A/B)
RE#E 399.3 64.0 463.3 463.3 100%
AR E 174.0 2.6 176. 6 176. 6 100%
KB % 100. 3 100. 3 100. 3 100%
REBEHK 84.7 84.7 84.7 100%
MNEREHK 120.5 120.5 120.5 100%
RRABTEH 16.5 80.0 96.5 96.5 100%
RERITEH 87.0 87.0 87.0 100%
AR kE 35.9 35.9 35.9 100%
BEEHKE 431.7 431.7 431.7 100%
T B ARE 553. 1 10.2 563.3 563.3 100%
B E R SkE 145. 1 145. 1 145. 1 100%
RIRETKE 66. 1 66. 1 66. 1 100%
R EHK 140. 8 140. 8 140. 8 100%
fREESKE 40. 1 40.1 40. 1 100%
7aHAfE 106. 1 106. 1 106. 1 100%
a5t 2,422.5 241.5 2,664.0 2,664.0 100%

*AREFIHFRBEESE




@REMTHE [1 041]

HE| B8SlEEL | BESIEHE = EER EE ST
REATS)EE FEATCKE (A) (FAZ<RMED) | YEER

EXEL 2EF0 2EF0 (B) (A/B)
LR 48.0 48.0 48.0 100%
e 28.7 28.7 28.7 100%
AR 18.3 98. 1 116. 4 116.4 100%
REH T 8% 195. 1 195. 1 195. 1 100%
HiR™ 53.4 53.4 53. 4 100%
BHEM 92.5 92.5 92.5 100%
AR 31.2 31.2 31.2 100%
PN i 137.8 137. 8 137.8 100%
il 30.6 30.6 30. 6 100%
&R 29.8 29.8 29. 8 100%
&t 18.3 745. 2 763.5 763.5 100%
*RAMREBER. ARFTRBERBFHFRBEZST
©F/NRSk [12 83] )

HH| BEBIEELE | B3 H 5 EX¥0 |EXFOHE

REATS)E | FEATCE (A) (FZ<RAED | YHKER

EXEH =xX0 =2E+0 (B) (A/B)
BRI S Y UikE 37.8 37.8 37.8 100%
shRI %8 30.7 30.7 30.7 100%
kil 121.9 121.9 121.9 100%
[GRULVD TER A #E 82.0 82.0 82.0 100%
=ERE 107. 6 107. 6 107.6 100%
& ZEHEEKE 1.1 7.1 7.1 100%
PIERZIT 54.9 54.9 54.9 100%
BEXE 9.2 9.2 9.2 100%
SEHKE 57.4 57.4 57. 4 100%
FXE R #50E 94.2 94.2 94.2 100%
B & R EE 23.0 23.0 23.0 100%
Wit 838 30.5 30.5 30.5 100%
LE=IT 59.5 59.5 59.5 100%
AT hXHEHKE 97.0 97.0 97.0 100%
REEHK 33.2 33.2 33.2 100%
L D#kE 102. 4 102. 4 102. 4 100%
L HEHK 11.6 11.6 11.6 100%
FIEIRE 14.4 14.4 14.4 100%
= ILith 75 %58 93.2 93.2 93.2 100%
GESD 4.9 4.9 4.9 100%
RARBR A fX28 20. 1 20. 1 20. 1 100%
EWLSA L= 6.5 6.5 6.5 100%
HLDEEPFEHKE 100. 1 100. 1 100. 1 100%
b pESkE 20.6 20.6 20. 6 100%
[RLY L vhikiE 17.8 17.8 17.8 100%




HE| BESIEELL | BE5IE 5t EEETN EEEEEE
REATS)HE | KEATOHE (A) (FAE<RERM) | YRER

EXEH =xEF0 =240 (B) (A/B)
A EHK 26.5 26.5 26.5 100%
Vb A hEESE 14.3 14.3 14.3 100%
B kiE 55. 6 55. 6 55. 6 100%
Em#kE 41.9 41.9 41.9 100%
FraikE 30.7 30.7 30.7 100%
bbb ERAHIE 44. 1 44. 1 44.1 100%
HIEEH 33.7 33.7 33.7 100%
LEBRHE 25.4 25.4 25.4 100%
BREE 1.7 1.7 1.7 100%
ik 5.7 5.7 5.7 100%
INEERE 16.4 16.4 16.4 100%
JesagkE 19.8 19.8 19.8 100%
W HEkE 26. 8 26. 8 26. 8 100%
2 LgkE 2.2 2.2 2.2 100%
REREHKIE 16.2 16.2 16.2 100%
I/ 58H% 10.0 10.0 10.0 100%
IR ILEKE 15.0 15.0 15.0 100%
BT 26. 6 26. 6 26. 6 100%
B E &R KE 14.6 14.6 14.6 100%
RmERGEESRE 12.2 12.2 12.2 100%
EHE T #%E 58. 3 58.3 58. 3 100%
BESREHKE 53.0 53.0 53.0 100%
FE-21 8O U8B 12.5 12.5 12.5 100%
BEZEESESRE 17.9 17.9 17.9 100%
REEEHET V2R 10.7 10.7 10.7 100%
HRSEKE 1.5 1.5 1.5 100%
BERT 45.7 45.7 45.7 100%
FEFERKE 29.4 29.4 29.4 100%
EREE 9.2 9.2 9.2 100%
B 11.0 11.0 11.0 100%
K388 65. 0 65.0 65. 0 100%
&N 88 17.8 17.8 17.8 100%
XEERHIKE 67.7 67.7 67.7 100%
SiEHE 18.0 18.0 18.0 100%
BHRKKIE 45.3 45.3 45.3 100%
+ B B E AR AR 3.1 3.1 3.1 100%
2HEREREEERE 15.2 15.2 15.2 100%
hERE R 2 AR SR 4.2 4.2 4.2 100%
=gt ikiE 47.0 47.0 47.0 100%
mAHH 1.0 1.0 1.0 100%
REE 22.3 22.3 22.3 100%
1BRB%E 34.5 34.5 34.5 100%
R SE 25. 1 25. 1 25. 1 100%
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EEHE T AEE ] 5t EEETN EEEEEE

REATS)HE | KEATOHE (A) (FAE<RERM) | YRER
EXEH =xEF0 =240 (B) (A/B)
REJIgE 66. 1 66. 1 66. 1 100%
fBHEE 18.1 18.1 18.1 100%
Z b AKE 53.0 53.0 53.0 100%
WS E S #%E 63. 2 63. 2 63. 2 100%
HEE 69. 2 69. 2 69. 2 100%
EXRBTES 5.9 5.9 5.9 100%
=R kiE 7.6 1.5 15. 1 15.1 100%
RiEEKIE 14.3 14.3 14.3 100%
REBEH 14.8 14.8 14.8 100%
T 858 59.5 59.5 59.5 100%
KRgkE 5.5 5.5 5.5 100%
BULES 14.4 14.4 14.4 100%
Jinggs v IgkE 114.0 114.0 114.0 100%
REM 14.7 14.7 14.7 100%
e 2.0 2.0 2.0 100%
B &R akE 12.5 12.5 12.5 100%
FAmEERES 6.9 6.9 6.9 100%
RRAREEKE 8.6 8.6 8.6 100%
FFLEH 14.3 14.3 14.3 100%
KBRS RK KB 9.2 9.2 9.2 100%
2 BEEkE 3.0 3.0 3.0 100%
78 KR = i ki 3.8 3.8 3.8 100%
LS 8KE (BR) 13.6 13.6 13.6 100%
—HEE 42.2 42.2 42.2 100%
EEE#% 16. 1 16. 1 16.1 100%
KEEREKE 10.4 10.4 10.4 100%
#1188 32.7 32.7 32.7 100%
# HkHT 2.7 2.7 2.7 100%
J\BEHT 16.5 16.5 16.5 100%
AT 56. 1 56. 1 56. 1 100%
HREE 38.3 38.3 38.3 100%
BNETEEHK 60. 0 60. 0 60. 0 100%
Bl {2 i i 838 8.5 8.5 8.5 100%
Cilig 3! 33.9 33.9 33.9 100%
TES A LEHE 109.3 109.3 109.3 100%
AEERHKIE 16.0 16.0 16.0 100%
A 2.1 2.1 2.1 100%
BR#E 43.2 43.2 43.2 100%
EAESHKIE 13.1 13.1 13.1 100%
HASE 13.7 13.7 13.7 100%
7 PR B i 58 17.7 17.7 17.7 100%
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el EEE A IEEHESE EEE I EEETEELE
REATS)HE | KEATOHE (A) (FAE<RERM) | YRER

EXEH =EF0 =2E+0 (B) (A/B)
NTES ST 93.8 93.8 93.8 100%
TR RS 8 49.2 49.2 49.2 100%
< ENIEKE 24.8 24.8 24.8 100%
BESNA CEE 116.9 116.9 116.9 100%
EEE/L—I 17.8 17.8 17.8 100%
MEE/L—IL 6.6 6.6 6.6 100%
FEHHE/ LI 15.2 15.2 15.2 100%
SEHMTE/ L—I 16.0 16.0 16.0 100%
gE)J—FSM4Y 5.0 5.0 5.0 100%
PN TRE S S 28.0 28.0 28.0 100%
N = R ek 8.8 8.8 8.8 100%
hBEHHE/ L—IL 12.9 12.9 12.9 100%
1Tp;] 4.1 4.1 4.1 100%
BEHBHRAE 12.7 12.7 12.7 100%
R AT & 10.6 10.6 10.6 100%
yYmnted 14.7 14.7 14.7 100%
BANE R E 8.9 8.9 8.9 100%
ME#HRE 15.3 15.3 15.3 100%
INCToRE ] 18.4 18.4 18.4 100%
it 3,682.3 306. 0 3,988.3 3,988.3 100%
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